Law Office of Robert W. Bauer, P.A. 2815 NW 13th Street
Suite 200E
Gainesville, FL 32609
Phone: 352-375-5960
www.Bauerlegal.com Email:

Mr. Neil Gillespie 8092 SW 115th Loop Ocala, Florida 34481

Bill Number: 1261

Date due: 10/13/2008

SUMMARY

Previous balance:

\$10,654.39

New charges:

1,085.98

Payments applied to cases:

0.00

**TOTAL DUE FOR ALL CASES:** 

\$11,740.37

Printed: 10/03/08 Gillespie, Neil Page: 1 of 4

## CASE SUMMARY FOR Libel 05CA007205 - 060703

Previous balance:

\$10,654.39

		Payments	
Date	Description		Amount

No new payments received for this case

Total payments:	\$0.00
-----------------	--------

Date	Description (	Charges		Amount
9/04/08	Phone call attempting to confirm deposition		0.1 hr	\$5.00
	KDK	\$50.00 /hr.		
9/04/08	Scheduled Deposition at courthouse.		0.1 hr	5.00
	KDK	\$50.00 /hr.		
9/04/08	Logging Defendant's Notice of Service of Interrogatories to Plaintiff in Aid of Execution is correspondence log.	1	0.1 hr	5.00
	MEG	\$50.00 /hr.		
9/08/08	Logging Supplemental Directions to Clerk in correspondence.		0.1 hr	5.00
	MEG	\$50.00 /hr.		
9/11/08	CC Client on Supplemental Directions to Clerk correspondence and file.	. Log in	0.2 hr	10.00
	MEG	\$50.00 /hr.		
9/11/08	Postage		1 @ 0.42 each	0.42
		MEG		
9/11/08	Logging Copy of Supplemental Directions to C Order Granting Stay in correspondence.	lerk and	0.1 hr	5.00
	MEG	\$50.00 /hr.		
9/12/08	CC Client on Defendants' Motion to Strike, log correspondence, and file in pleadings.	in	0.1 hr	5.00
	MEG	\$50.00 /hr.		
9/12/08	Postage		1 @ 0.42 each	0.42
		MEG		
9/15/08	Logging Appellate Case Supplement & Notice Deposition Duces Tecum in correspondence	of	0.1 hr	5.00
	MEG	\$50.00 /hr.		
9/23/08	Filing client documents and pleadings, updatin pleading index.	g	0.25 hr	12.50
	MEG	\$50.00 /hr.		
9/24/08	Office consult regarding status of case with Se Clerk, (DMS).	nior Law	0.1 hr	10.00
	DMS	\$100.00 /hr.		
inted: 10/	/03/08 Gille	espie, Neil	Page:	2 of 4

9/24/08	Conferenced with Senior Law Clerk, (DMS) re case status and document inquiry.	garding	0.1 hr	10.00
	JAC	\$100.00 /hr.		
9/24/08	Filing client pleadings.  MEG	\$50.00 /hr.	0.1 hr	5.00
9/25/08	Review pleadings and all emails.	<b>4</b> 00.00 // III /	0.2 hr	50.00
0,20,00	•	\$250.00 /hr.	<b>0.2</b>	00.00
9/29/08	Meeting with client concerning two entries of the that the client does not have copies. Checked client's file for the pleadings. The client provid questions to be directed to the Senior Attorney	ne docket the ed	0.3 hr	37.50
	DMS	\$125.00 /hr.		
9/29/08	Filing client pleadings and updating pleading in	ndex. MEG	50 @ 0.30 each	15.00
9/29/08	Conference with Senior Law Clerk, (DMS) regions case status and assist him in finding document	ts.	0.2 hr	35.00
9/30/08	Meeting with Senior Attorney to discuss clients documents. Contact clerk of the court for Hills County to request documents. Left message. clerk of the court for 2nd DCA to request docu Left message. Meeting with Senior Attorney concerning garnishment of personal property. Research exemptions for personal property in garnishment. Meeting with Senior Attorney co exemptions.	boro Contact ments.	2.1 hrs	262.50
	DMS	\$125.00 /hr.		
9/30/08	Copies of docket for both lower court case and	l appeal. DMS	7 @ 0.10 each	0.70
9/30/08	Telephone call from client. Review email from REview resonse to interrogaotires. Conduct re on Personal property that is subject to garnishing RWB	esearch	0.6 hr	150.00
10/01/08	Telephone call to clerk of the Second District C Appeal. Draft cover letter to request copy of plant Telephone call to the Hillsborough clerk of the Draft cover letter to request copy of letter listed docket. Prepare responses to interrogatories, of Serving Interrogatories, and prepared documnailing.	Court of eading. court. I in the Notice	1.7 hrs	212.50
	<del>-</del>	\$125.00 /hr.		
10/01/08	Copies related to requesting copies of docume the clerks of court.	nts from	7 @ 0.10 each	0.70
		DMS		
10/01/08	Preparing documents for mailing: Letter to cler requesting copy of letter to court from Ryan Ro Log in correspondence, and filing.		0.2 hr	10.00
	MEG	\$50.00 /hr.		

Printed: 10/03/08 Gillespie, Neil Page: 3 of 4

10/01/08 Postage	4 @ 0.42 each	1.68
MEG		
10/01/08 Copies	12 @ 0.10 each	1.20
MEG		
10/01/08 Preparing documents for mailing: Plaintiff's Notice of Service of Responses to Plaintiff. Logging in correspondence and filing.	0.2 hr	10.00
MEG \$50.00 /hr		
10/01/08 Postage	3 @ 0.42 each	1.26
MEG	•	
10/02/08 Need to schedule hearing for PLAINTIFF'S MOTION FOR REHEARING and MOTION FOR RELIEF FROM JUDGMENT Called JA, she advised that I must fax the motions for hearings over one hour faxed motions.	0.1 hr	5.00
BEL \$50.00 /hr.		
10/02/08 Preparing documents for mailing: Letter RE: Discovery Request. Logging in correspondence and filing.	0.2 hr	10.00
MEG \$50.00 /hr.		
10/02/08 Postage	2 @ 0.42 each	0.84
MEG		
10/02/08 Billing for multple days of email review and response. Telephone call to client. Review of all outstanding pleading and tasking clerk with filing.	0.75 hr	187.50
RWB \$250.00 /hr	r.	
10/03/08 Preparing documents for mailing: Plaintiff's Notice of Service of Verification Page for Responses to Interrogatories to Plaintiff. Logging in correspondence and filing.	0.2 hr	10.00
MEG \$50.00 /hr.		
10/03/08 Postage	3 @ 0.42 each	1.26
MEG		

Total charges: \$1,085.98

## **CASE SUMMARY**

Previous balance:

\$10,654.39

Total charges:

1,085.98

Total payments:

0.00

**TOTAL DUE for this Case:** 

\$11,740.37

You have amounts that are past due. Please pay.

Printed: 10/03/08 Gillespie, Neil Page: 4 of 4